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[MBF839] A grocery store charges 100naira for 5packs of oranges. Assuming there is a 
no quantity discount, how much will be charged for 18packs of oranges ?
360

[MBF839] The principal of a redeemable bond or bond with a maturity is payable after a 
specific period called _______
maturity period

[MBF839] Income share are those that pay _______ and offer low prospects for capital 
gains.
high dividends

[MBF839] Yield to maturity measure of a bonds rate of return that consists both the 
interest income and any capital _______or ______
gain or loss

[MBF839] Perpetual bonds also known as _______ has an indefinite life and has no 
maturity value
consols

[MBF839] Dividend/Divisor = _________
Quotient+Reminder/Divisor

[MBF839] Pure discount bonds do not carry an ________ rate of return
explicit

[MBF839] Simplify 5a+7b-3+3b-2a+8 =_________
3a+10b+5

[MBF839] Root are the opposite of _________
exponents

[MBF839] 5/6 + 3/4 = _________
1.58333333333333
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